# Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 - Fochabers Lhanbryde

4,089

3

1,023

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David BREMNER	Scottish National Party (SNP)	711
Donald CAMERON	Scottish Liberal Democrats	211
Kenneth John GILLESPIE	Independent	166
Peter Jonathan HORTON	Scottish Liberal Democrats	83
Marc MACRAE	Scottish Conservative and Unionist	1,747
Shona MORRISON	Scottish National Party (SNP)	682
Sean Murray MORTON		215
Ian TAYLOR	Independent	274
	Total	4,089

Candidate Marc MACRAE Elected with 1,747 votes, being in excess of the quota of 1,023

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Marc MACRAE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BREMNER	27	0.41442	11.18934
Transfer to Donald CAMERON	257	0.41442	106.50594
Transfer to Kenneth John GILLESPIE	280	0.41442	116.03760
Transfer to Peter Jonathan HORTON	142	0.41442	58.84764
Transfer to Marc MACRAE	0	0.00000	0.00000
Transfer to Shona MORRISON	49	0.41442	20.30658
Transfer to Sean Murray MORTON	166	0.41442	68.79372
Transfer to Ian TAYLOR	211	0.41442	87.44262
Value of non-transferable ballot papers			254.87656
	Total		724.00000

# Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Peter Jonathan HORTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BREMNER	1	0.41442	0.41442
Transfer to David BREMNER	6	1.00000	6.00000
Transfer to Donald CAMERON	87	0.41442	36.05454
Transfer to Donald CAMERON	40	1.00000	40.00000
Transfer to Kenneth John GILLESPIE	15	0.41442	6.21630
Transfer to Kenneth John GILLESPIE	6	1.00000	6.00000
Transfer to Marc MACRAE	0	0.00000	0.00000
Transfer to Shona MORRISON	6	1.00000	6.00000
Transfer to Sean Murray MORTON	6	0.41442	2.48652
Transfer to Sean Murray MORTON	3	1.00000	3.00000
Transfer to Ian TAYLOR	9	0.41442	3.72978
Transfer to Ian TAYLOR	9	1.00000	9.00000
Value of non-transferable ballot papers			22.94608
	Total		141.84764

# Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Sean Murray MORTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BREMNER	2	0.41442	0.82884
Transfer to David BREMNER	23	1.00000	23.00000
Transfer to Donald CAMERON	30	0.41442	12.43260
Transfer to Donald CAMERON	39	1.00000	39.00000
Transfer to Kenneth John GILLESPIE	36	0.41442	14.91912
Transfer to Kenneth John GILLESPIE	35	1.00000	35.00000
Transfer to Peter Jonathan HORTON	0	0.00000	0.00000
Transfer to Marc MACRAE	0	0.00000	0.00000
Transfer to Shona MORRISON	2	0.41442	0.82884
Transfer to Shona MORRISON	29	1.00000	29.00000
Transfer to Ian TAYLOR	42	0.41442	17.40564
Transfer to Ian TAYLOR	49	1.00000	49.00000
Value of non-transferable ballot papers			67.86520
	Total		289.28024

# Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Kenneth John GILLESPIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BREMNER	2	0.41442	0.82884
Transfer to David BREMNER	7	1.00000	7.00000
Transfer to Donald CAMERON	59	0.41442	24.45078
Transfer to Donald CAMERON	42	1.00000	42.00000
Transfer to Peter Jonathan HORTON	0	0.00000	0.00000
Transfer to Marc MACRAE	0	0.00000	0.00000
Transfer to Shona MORRISON	5	0.41442	2.07210
Transfer to Shona MORRISON	19	1.00000	19.00000
Transfer to Sean Murray MORTON	0	0.00000	0.00000
Transfer to Ian TAYLOR	129	0.41442	53.46018
Transfer to Ian TAYLOR	84	1.00000	84.00000
Value of non-transferable ballot papers			111.36112
	Total		344.17302

# Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Donald CAMERON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BREMNER	9	0.41442	3.72978
Transfer to David BREMNER	28	1.00000	28.00000
Transfer to Kenneth John GILLESPIE	0	0.00000	0.00000
Transfer to Peter Jonathan HORTON	0	0.00000	0.00000
Transfer to Marc MACRAE	0	0.00000	0.00000
Transfer to Shona MORRISON	8	0.41442	3.31536
Transfer to Shona MORRISON	31	1.00000	31.00000
Transfer to Sean Murray MORTON	0	0.00000	0.00000
Transfer to Ian TAYLOR	95	0.41442	39.36990
Transfer to Ian TAYLOR	84	1.00000	84.00000
Value of non-transferable ballot papers			322.02882
	Total		511.44386

# Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Ian TAYLOR

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David BREMNER	32	0.41442	13.26144
Transfer to David BREMNER	57	1.00000	57.00000
Transfer to Donald CAMERON	0	0.00000	0.00000
Transfer to Kenneth John GILLESPIE	0	0.00000	0.00000
Transfer to Peter Jonathan HORTON	0	0.00000	0.00000
Transfer to Marc MACRAE	0	0.00000	0.00000
Transfer to Shona MORRISON	38	0.41442	15.74796
Transfer to Shona MORRISON	63	1.00000	63.00000
Transfer to Sean Murray MORTON	0	0.00000	0.00000
Value of non-transferable ballot papers			552.39872
	Total		701.40812